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[(Z(u + h)− Z(u)]2 = 1− ρ(|h|).
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�Z(u) = ρ(|u1 − u|)z(u1).

v11 u1

u

�Z(v11) = ρ(|u1 − v11|)z(u1).
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�Z(u) = ρ(|v11 − u|) �Z(v11) =
ρ(|v11 − u|)ρ(|u1 − v11|)z(u1).
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�Z(v12) = ρ(|v11 − v12|) �Z(v11).
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�Z(u) = ρ(|v12 − u|) �Z(v12) =

ρ(|v12 − u|)ρ(|v11 − v12|) �Z(v11) =
ρ(|v12 − u|)ρ(|v11 − v12|)ρ(|u1 − v11|)z(u1).

ρ(|h|) = exp(−a|h|/r)
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z(u1) = 3 z(u2) = −1 z(u3) = −2 z(u4) = 5
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Z = µ = 0
Z = 1 · · ·
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γ(|h|) = s[1− exp(−3|h|2/r2)3] r = 3 s = 1.



ρ(|h|) = exp(−|h|2/3)3

|h|

�Z(v11) = ρ[d(u1, v11)]z(u1) = 2.511
�Z(v21) = ρ[d(u2, v21)]z(u2) = −0.820
�Z(v31) = ρ[d(u3, v31)]z(u3) = −2.000
�Z(v32) = ρ[d(v31, v32)]z(v31) = −2.000
�Z(v41) = ρ[d(u4, v41)]z(u4) = 4.783.
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�Z(u) = λ1
�Z(v11) + λ2

�Z(v21) + λ3
�Z(v32) + λ4

�Z(v41)

λ

λ1 + ρ(v11, v21)λ2 + ρ(v11, v32)λ3 + ρ(v11, v41)λ4 = ρ(v11, u)
ρ(v21, v11)λ1 + λ2 + ρ(v21, v32)λ3 + ρ(v21, v41)λ4 = ρ(v21, u)
ρ(v32, v11)λ1 + ρ(v32, v21)λ2 + λ3 + ρ(v32, v41)λ4 = ρ(v32, u)
ρ(v41, v11)λ1 + ρ(v41, v21)λ2 + ρ(v41, v32)λ3 + λ4 = ρ(v41, u).

λ1 = −0.071 λ2 = 0.0721 λ3 = 0.3659 λ4 = 0.3610
�Z(u) = 0.2238


